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1 100kN/mM##8Z 5% -1 -~ = —-|3mZE#BZE - ~ = = —-|100kN/mM%#BZ 5 = -~ = i Blu st -~ = = =
st 1.00{0.00 ~ 7.21 91.67| 1 List 000 ~ 7.21| 1.79 9.02 s 1.00] 500 ~ 9.16 91.67| Zhs | 500 ~ 9.16[ 1.79 9.02
2 100kN/M#ZH#BZ % 1.00{0.00 ~ 0.36 105.33[3m%E {25 = ~ - = —| 100kN/ Mm% B2 5 1.00{ 10.58 ~ 11.55 105.33[3m%E#B 2% il ~ - - =
Zzh st 1.00]0.36 ~ 8.15 100.00| #H List [000 ~ 8.15| 2.24 11.31 s 1.00] 5.00 ~ 10.58 100.00|] Zh1l4t | 500 ~ 1155| 2.24 11.31
3 100kN/mM%E{EZ % -l -~ = -|3m%E#EZE - ~ = = —-|100kN/ Mm% 25 = -~ = -|I3m%EEZ S =| ~ = = =
Zhn st 1.00/0.00 ~ 7.46 95.30f ZnList 000 ~ 7.46] 1.79 9.07 s 1.00] 500 ~ 9.75 95.30] Zh s | 500 ~ 9.75[ 1.79 9.07
4 100kN/mM%#B% % -1 -~ = -I3mZEBZB - ~ = - —-| 100kN/mMZ#B % % = -~ = -|3m%i#BZ 5 a ~ = - -
Zzh st 1.00/0.00 ~ 6.84 86.57| N4 |0.00 ~ 684 1.94 9.80 st 1.00] 5.00 ~ 9.03 86.57| N4t | 500 ~ 9.03| 1.94 9.80
5 100kN/mM%E{EZ % 1.00/10.00 ~ 137 120.82|3m%E#EZS| - ~ = = —-|100kN/ Mm% 25 1.00/10.77 ~ 15.81 120.82|3m%EH#BZ.5 —| ~ = = =
st 1.00]1.37 ~ 9.16 100.00f ZH1 4t |0.00 ~ 9.16] 2.26 11.44 s 1.00] 5.00 ~ 10.77 100.00] Zh st | 500 ~ 15.81| 2.26 11.44
6 100kN/M%#B% % -l -~ = -I3m%zx#EZE - ~ = = —-|100kN/ Mm%z 5 = -~ = -[3m%E{E2 3 = e - - -
Lt 1.00/0.00 ~ 6.53 82.27| £n st [0.00 ~ 0.00| 1.78 8.98 Zzh st 1.00] 5.00 ~ 7.78 82.27] #n L4t | 500 ~ 7.78| 1.78 8.98
7 100kN/mM%EH#BZ % -1 -~ = -I3mZiEZE - ~ = = —| 100kN/ Mm%z 5 = -~ = -[3m%EEZ D = = = =
Zh st 1.00/000 ~ 644 81.08] ZnList 000 ~ 644 184 9.30 Zh s 1.00] 500 ~ 775 81.08] #hust | 500 ~ 7.75| 1.84 9.30
8 100kN/M%#B% % -l -~ = -|3m%x#EZE - ~ = = —-|100kN/ Mm%z 5 = -~ = -[3m%x#EZ S o ~ - - -
Lt 1.00/0.00 ~ 4.72 58.80| £ List 000 ~ 4.72| 1.83 9.25 ZhnLs 1.00] 500 ~ 5.04 58.80| Th s | 500 ~ 504 1.83 9.25
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Zh LS ~ ZHLS ~ ZH S ~ LSt ~
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